ANSWERS => NumaER AND TYPE OF REOTS oF
L
QuUADRATIC KQUATIONS
35. 2x*+3%-10=0

a=2, b=3,c=-10

D=b*Mac Since D>0,+herc
= (34 (2)-1c) are fwo reu\ roots.
= 9+%0
=89
36. Gx*19x+M=0
a=9, b=-12,C="4.
D=b*Nac Since D=0 , there
= (i yA-Ha)) wWill be Onc real reot
= N I
=0

Smr_e =0, <

a=l; b=8; c=le \.xadrcd-lc_k uation
Wil have ane Feal root -
D=b*>Mac
= (g8)y*- "*l(l)(l&;) I}]Sreﬁzra the (,qud'ru(:lc
= pNM-6 functien Wll\ have
= 0 cne X-intercept.
=51+ 2x+ | Since D<O,
Q—S,b:L)c=| Ll_(_ld‘r‘(rtli e uahon
Wil have +wo imaginar
=L&)* q(s)U) =
= 20 |It‘;r€ e 't,he uadratic
= -l @u%ctmn wWill ha%’

no  x-intercepts.

37. 3x*-Tx+5=0
a=3;b="7,¢=5

D=y Since D<O, there
= ("l)"‘ ‘4(3)(5) will be two e
= M{4-6O Imaginary roots .
= -1 ,V\&Wé

40. y= Tx*+6x Since D=0 +'nt: CLLICdTUtIC‘
a="1 ] b=@3(‘_:o equation w\\l have-hao

veal coots.

: (6)1 ’4(’1)(0) ' H’Lgre-&rc 3 the quadratic

=83~ 0 dnchion wWill have two
= 3k X-intercepts

y =X X =135+ 42 Since D=0, the
a=1,b="13, c=42 + quadratic equation

Wil have +wo real
D=hb>*-Mac roots.

= 3N DM

= |69 -168 _r_.ereﬁ,ra the gquadvatic
= |

funchion Wlﬂ have
¥-intercepts .



42. 3y™Nx+C =0
a=3,b=H;, C=C

a) For two real roots , the discrniminant
must be greater than O.

b*-Nac >C
(=4 (3)C) >0
6 —12Cc =0
—e>=-lb
= T2
¢ < Jg

¢ < L-L (lowest hrmg)

Al values of "¢ less than “Is will
resulty 1ntwo real Sclutions.

C) For ne reat roets (2 \mugmart} rooﬁa)
e discoiminant must be less
Than O.

LMo <O
()2=-H(3)(C)<0
le—-12Cc <O

Al values OF ‘c* grecter than 43
will result in the equathion hamnS
two imaginary coots

b) For one real roct ) the d\&.c.rmmnqn“l'
must equal gero.

(I?t)l—qc.a)(c) O

lb-12c=0
—ZC="1k_
=VJ -l

c= ‘_'L (CMCS“\‘ '\'ErmS)

The only "c" value Fhat wWill vesu b
in one teal reot 18 :L
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